Math 100 Quiz #6 Name:
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2. Subtract: — % — (_ %) -
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4. Divide: 5 8=
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Hint: Choose numbers for each variable to see how to solve the problem. Write your final
answer in terms of a, b, and c.

Subtract: & — Y=
X z

Hint: Choose numbers for each variable to see how to solve the problem. Write your final
answer in terms of w, X, y and z.

S =
t
Hint: Choose numbers for each variable to see how to solve the problem. Write your final

answer interms of g, r, s, and t.

Multiply: % X

Divide: £ + 5 =
7 t

Hint: Choose numbers for each variable to see how to solve the problem. Write your final
answer interms of g, r, s, and t.



